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TNPSC EO EXAM - 2022 
 

1. According to a certain code TRUST = 103, LOVE = 58, then CARING is  
a. 46  b. 48  c. 57  d. 58  e. Answer not known 
Fwpg;gpl;l kiwFwpaPl;bd; gb TRUST = 103 MfTk; LOVE = 58 MfTk; 
,Ue;jhy; CARING MdJ 
a. 46  b. 48  c. 57  d. 58  e. tpil njhpatpy;iy 
 

2. If MINJUR is coded as 423658 DATE is coded as 1970 how can NADURAI 
be coded   
a. 3915892   b.4915982    c. 4951982    
d. 4989215   e. Answer not known  
MINJUR vd;gJ 423658 vdTk; DATE vd;gJ 1970 vdTk; 
Fwpaplg;gl;Ls;sJ vdpy; NADURAI vd;gJ vt;thW Fwpaplg;gLk;? 
a. 3915892   b.4915982    c. 4951982    
d. 4989215   e. tpil njhpatpy;iy 
 

3. A works 3 times as fast as B and is able to complete a task in 24 days less 
than the days taken by B. find the time in which they can complete the 
work together 
a. 12 days    b. 36 days    c. 9 days     

d. 15 days    e. Answer not known 
A Mdth; B If; fhl;bYk; 3 klq;F Ntfkhf xU Ntiyia nra;J 
Kbg;ghh;. mtuhy; me;jg; gzpia B vLj;Jf; nfhz;lNeuj;ij tpl 24 
ehl;fs; Fiwthf vLj;J Kbf;f KbfpwJ ,UtUk; Nru;e;J me;j 
Ntiyia Kbf;f MFk; Neuj;ijf; fhz;f. 
a. 12 ehl;fs;  b. 36 ehl;fs;   c. 9 ehl;fs; 
d. 15 ehl;fs;  e. tpil njhpatpy;iy 
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4. A and B together complete a project in 16 days while A alone completes 
the project in 48 days. In how many days can B alone completes the 
project . 
a. 12 days   b. 24 days    c. 30 days    
d. 32 days  e. Answer not known 
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; Kbg;gh;. 
A jdpNa mt;Ntiyia 48 ehl;fspy; Kbg;ghh; vdpy; B jdpNa 
mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;? 
a. 12 ehl;fs;  b. 24 ehl;fs;   c. 30 ehl;fs; 
d. 32 ehl;fs;  e. tpil njhpatpy;iy 
 

5. If the radius of the base of a cone is tripled and the height is doubled then 
the volume is  
a. made 6 times  b. made 18 times  c. made 12 times   
d. unchanged   e. Answer not known 
xU $k;gpd; mbg;Gw Muk; Kk;klq;fhfTk; cauk; ,U klq;fhfTk; 
khwpdhy; fd msT vj;jid klq;fhf khWk;? 
a. 6 klq;F   b. 18 klq;F   c. 12 klq;F 
d. khw;wkpy;iy  e. tpil njhpatpy;iy 
 

6. A sum becomes ` 4500 after 2 years and ` 2 years and  6750 after 4 years at 

compound interest, then find the sum. 

a. ` 4000   b. ` 2,500    c ` 3,000    
d. ` 3,050   e. Answer not known  
$l;L tl;b Kiwapy; xU njhifahdJ 2 Mz;Lfspy; ₹ 4>500 MfTk; 4 
Mz;Lfspy; ₹ 6>750 MfTk; fpilf;fpwJ vdpy; me;j njhif vd;d? 
a. ₹ 4,000   b. ₹ 2, 500   c. ₹ 3,000 
d. ₹ 3,050   e. tpil njhpatpy;iy 

 
7. Find the simple interest on Rs. 5x2y2 for 4 xy years at 7y% per annum. 

a. 3 47

5
x y    b. 2 37

4
x y    c. 3 24

5
x y  

d. 2 44

7
x y    e. Answer not known 

Rs. 5x2y2 f;F Mz;bw;F 7y% tPjk; jpdtl;b fhz;f. 

a. 3 47

5
x y    b. 2 37

4
x y    c. 3 24

5
x y  

d. 2 44

7
x y    e. tpil njhpatpy;iy 

 
8. Anita takes loan of Rs. 5,000 at 15% per year as rate of interest. Find the 

interest she has to pay at the end of two year. 
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a. 1,000 b. 1,300 c. 1,800 d. 1,500 e. Answer not known 
mdpjh vd;gth; 15% tl;b tPjj;jpy; Rs. 5>000 fldhf ngWfpwhh;. 2 tUl 
Kbtpy; mth; nrYj;Jk; tl;b njhif vt;tsT? 
a. 1,000 b. 1,300 c. 1,800 d. 1,500 e. tpil njhpatpy;iy 
 

9. The ratio of expenditure and savings in a family is 5:3. If the expenditure 
is ₹ 3,500. What is the savings? 
a.  ₹1,400   b.  ₹ 2,100   c. ₹ 2,800    

d.  ₹3,000    e. Answer not known 

xU FLk;gj;jpd; nryT kw;Wk; Nrkpg;Gfspd; tpfpjk; 5:3 nryT ₹ 3>500 
vdpy; Nrkpg;G vt;tsT? 
a.  ₹1,400   b.  ₹ 2,100   c. ₹ 2,800    

d.  ₹3,000    e. tpil njhpatpy;iy 
   

10. The product of two numbers is 3672 and their LCM and HCF are 612 and 
6 respectively. If one of the numbers is 36, then find the other number ? 
a. 96  b. 102 c. 112  d. 124  e. Answer not known 
,U vz;fspd; ngUf;fw;gyd; 3672 kw;Wk; mitfspd; kP.rp.k. kw;Wk; 
kP.ngh.t KiwNa 612 kw;Wk; 6 MFk;. mt;ntz;fspy; xU vz; 36 vdpy; 
kw;nwhU vz;izf; fhz;f. 
a. 96  b. 102 c. 112  d. 124 e. tpil njhpatpy;iy 
 

11. The greatest number that will divide 62, 78 and 109 leaving remainders 2, 
3 and 4 respectively is  
a.  12  b. 14  c. 15  d. 16  e. Answer not known  
62> 78 kw;Wk; 109-I tFj;J KiwNa 2> 3 kw;Wk; 4-I kPjpfshf 
nfhLf;Fk; kPg;ngU nghJf; fhuzp 
a.  12  b. 14  c. 15  d. 16  e. tpil njhpatpy;iy 
 

12. If 48% of 48 = 64% of z, then z = ____________ 
a. 64  b. 56  c. 42  d. 36   e. Answer not known  
48 ,d; 48% = z ,d; 64% vdpy;> z d; kjpg;G _____ MFk;. 
a. 64  b. 56  c. 42  d. 36   e. tpil njhpatpy;iy 
 

13. In an examination, a student scores 3 marks for every correct answer and 
loses one mark for every wrong answer. If he answers 80 questions in all 
and gets 160 marks find the number of questions he answered wrongly? 
a. 20  b. 40  c. 60   d. 10  e. Answer not known  
xU Njh;th; xt;nthU rhpahd tpilf;Fk; 3 kjpg;ngz; ngWfpwhh;. jtwhd 
tpilaspj;jhy; 1 kjpg;ngz; ,of;fpwhh;. 80 tpdhf;fSf;F tpilaspj;j 
Njh;th; 160 kjpg;ngz; ngWfpwhh; vdpy; mth; jtwhf tpilaspj;j 
tpdhf;fspd; vz;zpf;if vd;d? 
a. 20  b. 40  c. 60   d. 10  e. tpil njhpatpy;iy 
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14. According to NITI Aayog for the year 2019, Tamilnadu stands _______ 

position in the Sustainable Development goals, India index 2019 
a. First    b. Second    c. Third   
d. Fourth   e. Answer not known 
MNahf;-d; ePbj;j epiyahd tsh;r;rp ,yf;Ffs; FwpaPl;bd;gb (2019) 
jkpo;ehL ngw;wpUf;Fk; ,lk; 
a. KjyhtJ  b. ,uz;lhtJ   c. %d;whtJ 
d. ehd;fhtJ  e. tpil njhpatpy;iy 
 

15. Tamil Nadu is a leading producer of cement with manufacturing units  
located at : 
1. Ariyalur, Virudhunagar  
2. Tanjavur, Chennai   
3. Coimbatore, Tirunelveli  
4. Pudukkottai, Madurai 
a. 1 and 4 correct  b. 1 and 3 correct   c. 2 and 4 correct   
d. 3 and 4 correct  e. Answer not known 
jkpo;ehL ____ ,lq;fspy; rpnkz;l; jahhpg;G epWtdq;fis nfhz;L 
Kjyplj;jpy; jpfo;fpwJ. 
1. mhpaY}h;> tpUJefh; 
2. jQ;rhT+h;> nrd;id 
3. Nfhak;gj;J}h;> jpUney;Ntyp 
4. GJf;Nfhl;il> kJiu 
a. xd;Wk; ehd;Fk; rhp    b. xd;Wk; %d;Wk; rhp 
c. ,uz;Lk; ehd;Fk; rhp    d. %d;Wk; ehd;Fk; rhp 
e. tpil njhpatpy;iy 
 

16. Which of the following is associated with the “THAI” program? 
a. Tamil Nadu Village Habitations Improvement Scheme 
b. The Chief Minister‟s Solar Powered Green House Scheme 
c.  Mahatma Gandhi national Rural Employment Guarantee Scheme  
d. Tamil Nadu Integreated   Nutrition Programme 
e. Answer not known 
gpd;tUtdtw;wpy; vJ “jha;” jpl;lj;Jld; njhlh;G cilaJ? 
a. jkpo;ehL Ff;fpuhkq;fs; Nkk;ghl;Lj; jpl;lk; 
b. Kjyikr;rhpd; #hpa rf;jp nfhz;l gRik ,y;yj; jpl;lk;  
c. kfhj;kh fhe;jp Njrpa Cuf Ntiy cWjpj; jpl;lk; 
d. jkpo;ehL xUq;fpize;j rj;JzTj; jpl;lk; 
e. tpil njhpatpy;iy 
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17. Article 164 of Indian constitution empowered the state Government to 
appoint a separate minister to look into the welfare of the  
a. Women    b. Children   c. Tribals    
d. Farmers   e.  Answer not known 
,e;jpa murpay; rhrdj;jpd; 164 MtJ gphpT> ____ eyj;jpw;fhf> jdpahf 
xU mikr;riu> khepy muR epakpf;f mjpfhukspf;fpwJ. 
a. ngz;fs;   b. Foe;ijfs;   c. goq;Fbapdh; 
d. tptrhapfs;  e. tpil njhpatpy;iy 
  

18. Revolutionary movements are mainly based on 
a. Reorganize of the society  b. Modification of the society   
c. Development of the society d. Post modern society  
e. Answer not known 
kWkyh;r;rp ,af;fk; vjid Kd; elj;JfpwJ? 
a. r%f kWrPuikg;G  b. etPd rPuikg;G  c. r%f tsh;r;rp  
d. Ke;jpa r%fk;   e. tpil njhpatpy;iy 
 

19. Consider the following districts of Tamil Nadu. 
1. Kanyakumari    
2. Virudhunagar      
3. Erode     
4. Tirupur    
5. Tuticorin 
Select the districts with highest Human Development Index. 
a. 1, 2 and 3 only  b. 2, 3 and 4 only   c. 1, 2 and 5 only  
d. 1, 2 and 4 only  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s jkpof khtl;lq;fis fUj;jpy; nfhs;sTk;. 
1. fd;dpahFkhp 
2. tpUJefh; 
3. <NuhL 
4. jpUg;G+h; 
5. J}j;Jf;Fb 
mjpf kdpjts FwpaPL cs;s khtl;lq;fis njhpT nra;f. 
a. 1> 2 kw;Wk; 3    b. 2>3 kw;Wk; 4 kl;Lk;   
c. 1>2 kw;Wk; 5 kl;Lk;   d. 1> 2 kw;Wk; 4 kl;Lk; 
e. tpil njhpatpy;iy 

 
20. Madras State Aid to Industries Act was enacted in the year of  

a. 1924  b. 1922    c. 1929    
d. 1920  e. Answer not known 
nrd;id khepy MiyfSf;F nghUSjtpr; rl;lk; nfhz;L tug;gl;l 
Mz;L 
a. 1924  b. 1922    c. 1929    
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d. 1920  e. tpil njhpatpy;iy 
 

21. Mention the leader of Madras Salt Satyagraha held in 1930, April 13 
a. Andhra Kesari Prakasam    b. Dr. Natarajan   
c. Sripada Sankar     d. akkur Anandachari     
e. Answer not known 
1930 Vg;uy; 13y; nkl;uh]py; eilngw;w cg;G rj;jpahfpuf jiyth; 
a. Me;jpu Nfrhp gpufhrk;   b. lhf;lh;. eluh[d; 
c. =ghj rq;fh;     d. Mf;$h; mde;jrhhp 
e. tpil njhpatpy;iy 
 

22. Match the following: 
  A. Chinnasamy   1.  En Kathai 
  B. Gopalakrishna Bharathi     2. Desiyam Valartha Tamil 

  C.  Ramalingam   3. Nandanar Charitra Keerthanaigal 
  D. Ka.Diraviyam   4. Suthanthiram Summa Kidaikkavillai 
  A B C D 
 a. 4 3 1 2 
 b. 4 2 3 1 
 c. 2 3 1 4 
 d. 2 1 3 4 

e. Answer not known 
rhpahd tpilia nghUj;Jf. 
A. rpd;dr;rhkp    1. vd; fij 
B. NfhghyfpU~;z ghujp  2. Njrpak; tsh;j;j jkpo; 
C. uhkypq;fk;    3. ee;jdhh; rhpj;jpu fPh;j;jidfs; 
D. fh. jputpak;    4. Rje;jpuk; Rk;kh fpilf;ftpy;iy 
 A B C D 
a. 4 3 1 2 
b. 4 2 3 1 
c. 2 3 1 4 
d. 2 1 3 4 
e. tpil njhpatpy;iy 
 

23. What dies the word „Irupunal” mean in this Thirukkural? 
“Irupunalum Vaaindha malaiyum Varupunalum 
Vallaranum Naatirkku Uruppu” 
(The constituents of a kingdom are the two waters well situated hills 
 and an undestructible fort.) 
a. Aatru neer, Kinatru neer (River water, Well water) 
b. Aatru neer, Kulathu neer (River water, Pond water) 
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c.  Mazhai neer, Kinatru neer (Rain water, Well water) 
d. Kadal neer, Mazhai neer (Sea water, Rain water) 
e. Answer not known 
“,UGdYk; tha;e;j kiyAk; tUGdYk; 
ty;yuZk; ehl;bw;F cWg;G” 
-,e;j jpUf;Fwspy;> „,UGdy;‟ vd;gJ ahJ? 
a. Mw;W ePh;> fpzw;W ePh;    b. Mw;W ePh;> Fsj;J ePh; 
c. fly; ePh;       d. fly; ePh;> kio ePh; 
e. tpil njhpatpy;iy 
 

24. Why is Kalki praised as Walter Scott of Tamil Nadu? 
a. Because he created social novels        

 b. Because he created detective novels 
 c. Because he wrote historical novels  

d. Because he wrote short stories 
e. Answer not known  
jkpo;ehl;bd; thy;lh; ];fhl;L vd;W fy;fp Nghw;wg;glf;fhuzk;? 
a. rKf ehty;fs; gilj;jjhy; b. Jg;gwpAk; ehty;fs; gilj;jjhy; 
c. tuyhw;W ehty;fs; gilj;jjhy; d. rpWfijfs; gilj;jjhy; 
e. tpil njhpatpy;iy 

 
25. Identify the Thirumurai which is called as `Prapantha Maalai‟ 

a. Eleventh Thirumurai   b. Tenth Thirumurai 
c. Eighth Thirumurai   d. Twelfth Thirumurai     
e. Answer not known 
gpuge;j khiy vd;wiof;fg;gLk; jpUKiw 
a. gjpNdhwhe; jpUKiw  b. gj;jhk; jpUKiw 
c. vl;lhk; jpUKiw  d. gd;dpnuz;lhk; jpUKiw 
e. tpil njhpatpy;iy 
 

26. Rainfall on red soil takes its colour which is inseparable so as the 
two who _________with 
a. Cultured   b. Specific  c. Fall in love 

d. Respected  e.Answer not known  

nrk;Gyg; ngay; ePh;Nghy _________ neQ;rk; jhk; fye;jdNt. 
a. gz;Gil  b. rpwg;GW  c. md;Gil  d. kjpg;GW 
e. tpil njhpatpy;iy 
 

27. Which of the following inscriptions mentions the confederacy of Tamil 
powers? 
a. Uttiramerur inscription   
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b. Hathigumbha inscription 
c. Asoka‟s inscriptions    
d. Thirumukkaudal inscription 
e. Answer not known 
fPo;fhZk; fy;ntl;Lfspy; jkpof murh;fspd; $l;lzp gw;wp Fwpg;gpLtJ 
vJ? 
a. cj;jpuNkUh; fy;ntl;L b. `jpFk;gh fy;ntl;L 
c. mNrhfhpd; fy;ntl;L  d. jpUKf;$ly; fy;ntl;L 
e.  tpil njhpatpy;iy 
 

28. The author of the statement “14th August 1947 was a day of sorrow and 
destruction for India,” was 
a. Lord Mount batten   b. Acharya Kripalani   

 c. Maulana Abul Kalam Azad d. Mohan Das Karam Chand Gandhi 
e. Answer not known 
“14 Mf];l; 1947 Jauk; kw;Wk; ,e;jpahtpw;fhd moptpd; jpdk;” vd;w  
$w;iw $wpath; 
a. nksz;l; Ngl;ld; gpuG  b. Mr;rhh;a fpUg;yhdp 
c.nksyhd mGy;fyhk; Mrhj; d.  Nkhfd;jh]; fuk;re;j; fhe;jp 
e. tpil njhpatpy;iy 
 

29. Who was considered as “The high Priest of Communism” by the Britist 
officials? 
a. E.M.S. Nambhoodripad   b. M.N. Roy 
c. Jawaharla Nehru    d. Subhash Chandra Bose 
e. Answer not known   
gphpl;b~; mYtyh;fs; ahiu “fk;a+dpfj;jpd; jiyik FU” vd;W 
mioj;jdh;? 
a. E.M.S. ek;g+jphp ghl;  b. M.N. uha;  c. [t`h;yhy; NeU 
d. Rgh~; re;jpuNgh];  e. tpil njhpatpy;iy 
 

30. What was the name of Newspaper started by Jawaharlal Nehru? 
a. Philosophy    b. National Herald 
c. Poorna Swaraj    d. Vande Madharam 
e. Answer not known 

 [t`h;yhy; NeU njhlq;fpa nra;jpjhspd; ngah; vd;d? 
 a. jj;Jt ,ay;  b. Ne~dy; n`uhy;l;  c. g+h;z Rtuh[; 
 d. te;Nj kjhuk;  e. tpil njhpatpy;iy 
 
31. Who tried to connect Indian Nationalism with culture and religious 

practices? 
a. Ishwar Chandra Vidyasagar  b. Rabindranath Tagore 
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c. Radhkumud Mookerji   d. RajaRam Mohan Roy 
e. Answer not known 

 ,e;jpa Njrpaj;ij gz;ghL rka eltbf;;iffNshL ,izj;jth; ahh;? 
 a. <~;th; re;jpu tpj;ah rhfh;  b. ,utPe;jpuehj; jh$h; 
 c. ,uhjhFKj; Kfh;[p   d. ,uh[huhk; Nkhfd;uha; 
 e. tpil njhpatpy;iy 
 
32. SAMPADA  Scheme is related to 

a. Agricultural finance   b. Agricultural credit to small farmers 
c. Agro-food processing industry d. Providing credit to industrai 
e. Answer not known 
rhk;glh jpl;lk; vjDld; njhlh;GilaJ 
a. Ntshz;il epjp  b. rpW tptrhapfSf;fhd fld; 
c. Ntshz; czT rhh;e;j njhow;rhiy 
d. njhopw;rhiyfSf;F fld toq;Fjy; 
e. tpil njhpatpy;iy 

 
33. Which of the following is capital-output ratio? 

a. Investment b. Amount of capital to produce one unit of output 
c. Savings   d. Credit   e. Answer not known 
fPo;f;fz;ltw;Ws; vJ Kyjd – cw;gj;jp tpfpjk; MFk;? 
a. Kyjdk;   
b. Xh; myFg; nghUis cw;gj;jp nra;a Njitg;gLfpd;w  Kyjdj;jpd;  
  msT 

 c. Nfkpg;G 
 d. fld; 
 e. tpil njhpatpy;iy 
  
34. Which Five Year plan focus on “Growth with Social Justice and Equity”? 

a. Seventh Five Year Plan    b. Eighth Five Year Plan 
c. Ninth Five Year Plan    d. Tenth Five Year Plan 
Select the correct answers by using the codes. 
a. (1) and (ii) 
b. (ii) only 
c. (iii) only 
d. (i) and (iv) 
e. Answer not known  
ve;j Ie;jhz;Lj; jpl;lk; “rKf ePjp kw;Wk; rkj;Jtj;Jld; tsh;r;rpis” 
ftdkhd/Nehf;fkhf nfhz;Ls;sJ? 
(i) VohtJ Ie;jhz;L jpl;lk; 
(ii) vl;lhtJ Ie;jhz;L jpl;lk; 
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(iii) xd;gjhtJ Ie;jhz;L jpl;lk; 
(iv) gj;jhtJ Ie;jhz;L jpl;lk; 
FwpaPl;il gad;gLj;jp rhpahd tpilia Njh;e;njL 
a. (i) kw;Wk; (ii) 
b. (ii) kl;Lk; 
c. (iii) kl;Lk; 
d. (i)kw;Wk; (iv) 
e. tpil njhpatpy;iy 

 
35. With reference to fundamental duties of Indian citizens, consider the     
        Following statement 
        1. Fundamental duties are enforceable by law 
        2. fundamental duties establish a democratic balance  
       3. Some of the fundamental duties are moral duties while others are  
           civic duties 
           Which of the above statement/s is/are correct? 
      a. 1 and 2 only    

    b. 2 and 3 only  
    c. 1 and 3 only  
    d. 1, 2 and 3 are correct 
    e. Answer not known 
„mbg;gil flikfs; rl;lj;jhy;‟ gw;wp fPo;fz;l $w;Wfspy; rhpahdit 
vit? 
1. mbg;gil flikfs; rl;lj;jhy; typAWj;jp eilKiwg;gLj;jg;gl 
   jf;fit  
2.  mbg;gil flikfs; kf;fshl;rpia rkepiyg;gLj;j cjTfpd;wd 
3. mbg;gil flikfs; rpy mwKiwahdiy kw;Wk; gy Fbapay; rhh;e;j  
  flikfshFk;    
NkNy Fwpg;gpl;l $w;Wfs; vJ/vit rhpahdJ? 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 3 kl;Lk;  d. 1,2 kw;Wk; 3 rhpahdit 
e. tpil njhpatpy;iy 
 

36. How do the Chief Minister of a state and his/her council of ministers  
can b removed from office 
1. Breakdown of constitutional machinery in the state optained by the 
Governor 
2. If the Legislative Asssembly of State passes a no-confidence motion 
with majority. 
3. If both the houses of Legislatuire of state passes the no- confidence 
motion 



 

11 | P a g e  11 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 
 

4. Parliament can pass an emergency and remove the Chief Minister and 
his council of ministers. 
Choose the exact `codes‟ given below 
a. 1 and 2   b. 2 and 3  c. 3 and 4 
d. 4 and 1   e. Answer not known 
Xh; khepy Kjy; mikr;rUk; mtuJ mikr;rh; mitAk; vt;thW  
gjtpapypUe;J ePf;fg;gl KbAk;? 
1. MSehpd; fUj;jpd;gb mk;khepyj;jpy; murpay; mikg;G ,ae;jpuk; 
ciltjhy; 
2. khepy rl;l rigapy; mWjp ngUk;ghd;ikAld; ek;gpf;if jPh;khdk; 
epiwNtw;wg;gl;lhy; 
3. khepyj;jpy; cs;s rl;lrigapy; cs;s <h; mitAk; ek;gpf;if ,y;yh 
jPh;khdj;ij ngUk;ghd;ikAld; epiwNtw;wpdhy; 
4. ehlhSkd;wk; mtrjf; fhy neUf;fb rl;lj;ij epiwNtw;wp khepyj;jpd; 
Kjy; mikr;riuAk; mtuJ mikr;rh; mitiaAk; ePf;f KbAk;. 
fPo;fz;l rhpahd vz;fis Njh;e;njLf;f 
a. 1 kw;Wk; 2 b. 2 kw;Wk; 3 c. 3 kw;Wk; 4 d. 4 kw;Wk; 1 
e. tpil njhpatpy;iy 

 
37. Consider the following statements regarding NRI‟s Voting Right. Find out 

which is wrong. 
(i) NRIs can vote in parliamentary as well as assembly elections  
(ii) Only EPIC issued NRI s can vote 
(iii) Original passport should be shown at the polling booth 
(iv) NRIs can vote through postal ballots 
a. (i) and (ii) are wrong 
b. (ii) and (iii) are wrong 
c. (ii) and (iv) are wrong 
d. (iv) only wrong  
e. Answer not known 
ntspehL tho; ,e;jpah;fspd; thf;Fhpik Fwpj;j fPo;fz;l $w;Wfis 
ftdpf;fTk;  
(i) ntspehL tho; ,e;jpah;fs; ehlhSkd;wk; kw;Wk; khepy rl;lkd;w 
Njh;hy;fspy; thf;fspf;fyhk;. 
(ii)  thf;fhsh; milahs ml;il toq;fg;gl;l ntspehL tho; ,e;jpah;fs; 
kl;LNk thf;fspf;f KbAk; 
(iii) thf;Fr; rhtbapy;mry; flTr;rPl;L fhz;gpf;fg;gl Ntz;Lk; 
(iv) ntspehL tho; ,e;jpah;fs; jghy; Kyk; thf;fspf;fyhk; 
a. (i)kw;Wk; (ii) jtW 
b. (ii) kw;Wk; (iii) jtW 
c. (ii) kw;Wk; (iv) jtW 
d.(iv) kl;Lk; jtW 
e. tpil njhpatpy;iy 
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38. The word `Secular State‟ is added in the Preamble of the Indian  

Constitution by the _________amendment 
a. 40th    b. 41st    c. 42nd    

d. 43rd     e. Answer not known  
„kj rhh;gww ehL‟ vd;w thh;j;ij ,e;jpa murpayikg;gpd; Kfg;Giuapy; 
Nrh;g;gjw;fhf Vw;gLj;jg;gl;l ___________ jpUj;jk; MFk; 
a. 40tJ b. 41tJ c. 42tJ d.43tJ e. tpil njhpatpy;iy 

  
39. What ideology would protect Indian unity? 

a. Capitalism  b. Communalism  c. Fundamentalism 
d. Secularism  e.  Answer not known 
ve;j fUj;jpay; ,e;jpahtpd; xw;Wikiag; ghJfhf;Fk;? 
a. Kjyhspj;Jtk;  b. tFg;Gthjk; 
c. mbg;gilthjk;  e. rkar;rhh;gpd;ik 
e. tpil njhpatpy;iy  

 
40. Mula Sankara was later called as  

a. Kesab Chandra Sen    b. Dayananda Saraswathi   
 c. Raja ram Mohan Roy  d. Eswara Chandra Vidya Sagar  

e. Answer not known 
Ky rq;fuh; gpw;fhyj;jpy; _________ vd;W miof;fg;gl;lhh;. 
a. Nfrg; re;jpu nrd;  b. jhade;j ru];tjp 
c. uh[h uhk; Nkhfd; uha; d. <];tu re;jpu tpj;ah rhfh; 
e. tpil njhpatpy;iy 
 

41. Mubarak Shah was the ablest ruler of the Sayyid Dynasty 
a. He freed the Delhi Sultanate from the Suzerainty of a foreigh power 
b. He succeeded in suppressing the revolts of his nobles and Jagirdars. 
Which of the above statement is correct 
a. (a) 
b. (b) 
c. (a) and (b) 
d. None of the above 
e. Answer not known 
raj; Nguurpy; Kguhf; ~h jpwikahd murh; 
a. ntspehl;L mjpfhuj;jpypUe;J nly;yp Ry;jhdpaj;ij tpLjiy nra;jth; 
b. cah;Fbapy; gpwe;jth;fs; kw;Wk; [hfph;jhh;fs; Vw;gLj;jpa fpsh;r;rpia 
mlf;fpath; 

 a. (a)  b. (b)  c. (a) kw;Wk; (b)   
d. Nkw;$wpatw;wpy; vJTkpy;iy 
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42. Match List I with List II and select your answer using the codes given 

below: 
       List I     List II 

(a) Mohenjadaro  1. Measurement scale 
(b)  Harappa   2. Lord Shiva 
(c) Trimukha Pose  3. Great Bath 
(d)  Bronze bar   4. D.R. Sahani    
(a)  (b)  (c)  (d) 

  a.3   4   2   1 
b.2   3   1   4 
c.4   3   2   1 
d.1   2   3   4 
e. Answer not known  
gl;bay; I I gl;bay; II cld; nghUj;jp fPNo nfhLf;fg;gl;Ls;s 
FwpaPLfisf; nfhz;L rhpahd tpiliaj; Njh;e;njL 
 

gl;bay; I    gl;bay; II 
 a. nkhfQ;rjhNuh   1. msit Kiw 

b. `ug;gh     2. rptd;  
c. jphpKfk;     3. ngUq;Fspay; 
d. ntz;fyf; Nfhy;  4. b.Mh;. r`hdp 
 
 A. B. C. D. 
a. 3 4 2 1 
b. 2 3 1 4 
c. 4 3 2 1 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
 

 
43. The people characterized by short stature, dark chocolate brown skin, 

wooly hair, bulbous forehead, broad flat nose and slightly protruding 
jaws belongs to ____________ race. 
a. Proto-Australoids  b. Negritos  c. Mangaloid 
d. Nordics    e. Answer not known 
Fl;ilahd cauk; fUk; rhf;Nyl; epw gOg;Gj;Njhy; fk;gsp Kb gy;G 
new;wp gue;j jl;ilahd Kf;F kw;Wk; rw;W ePbj;j jhilfs; Mfpatw;why; 
tifg;gLj;jg;gLk; kf;fs;  
a. GNuhl;Nlh – M];l;uyha;l;]; b. ePf;hpNkh]; 
c. kq;fsha;l;];    c. ehh;bf;]; 
d. tpil njhpatpy;iy 
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44. The mineral having transparency and hardness. 

a. Gold   b. Silver   c.Copper     
d. Diamond  e. Answer not known 
xsp CLUtf;$aJk; kw;Wk; fbdj;jd;ikAk; nfhz;l fdpkk; 
a. jq;fk; b. nts;sp c. nrk;G d. ituk; 
e. tpil njhpatpy;iy 

 
45. Mawsynram, the place which receives highest rainfall in the world is 

located in __________state of India. 
a. Mizoram  b. Nagaland  c. Tripura 
d.Meghalaya  e. Answer not known 
cyfpy; mjpf kio ngUk; ,lkhf „nksrpd;uhk;‟ mike;Js;s ,e;jpa 
khepyk; 
a. kpNrhuk;  b. ehfyhe;J c. jphpGuh  d. Nkfhyah 
e. tpil njhpatpy;iy  

 
46. The First Municipal Corporation was set-up in the former 

Presidency Town of Madras in 
a. 1688 b.1788 c.1888 d.1988 e.Answer not known 
Kjy; khefuhl;rp nrd;id khfhzj;jpy; vg;NghJ njhlq;fg;gl;lJ? 
 
a. 1688 b. 1788 c. 1888 d. 1988 e. tpil njhpatpy;iy 

 
47. Which of the following are determinants of political parties? 

(i) The human nature 
(ii) Environment 
(iii) Interest 
(iv) Struggle 
a.(i) and (ii) only  b. (i) and (iv) only c.(i), (ii), (iii) only 

 d. (ii) and (iv) only  e. Answer not known  
fPo;fhzg;gLgitfspy; murpay; fl;rp jPh;khdpfs; ahit? 
(i) kdpjh;fspd; jd;ik 
(ii) #oy; 
(iii) gw;W 
(iv) Nghuhl;lk; 
a. (i) kw;Wk; (ii) kl;Lk;  b. (i) kw;Wk; (iv) kl;Lk; 
c. (i),(ii),(iii) kl;Lk;  d. (ii) kw;Wk; (iv) kl;Lk; 
e. tpil njhpatpy;iy 
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48. Consider the following statement 
1.Micro enterprise, where the investment in machinery does not exceed

  one crore rupees 
2.A small enterprise, where investment in machinery does not exceed ten 
crore rupees 
3.A medium enterprise, where investment in machinery does not exceed 
fifty crore rupees 
4. A micro enterprise where the investment in machinery does not exceed 
two crore rupees 
From the above statement, which are correct? 
a. 1 and 4 
b. 1 and 3 
c. 1, 2 and 3 
d. 3 and 4 
e. Answer not known 
gpd;tUk; $w;iw ftdpf;f 
1. FW njhopw;rhiyapy; ,ae;jpuq;fspy; KjyPL xU Nfhb Ughia  
jhz;lf;$lhJ 
2.  rpW njhopw;rhiyapy; ,ae;jpuq;fspy; KjyPL gj;J Nfhb Ughia  
jhz;Lf;$lhJ 
3. eLj;ju njhopw;rhiyapy; ,ae;jpuq;fspy; KjyPL Ik;gJ Nfhb Ughia 
jhz;lf;$lhJ 
4.  FW njhopw;rhiyapy; ,ae;jpuq;fspy; KjyPL ,uz;L Nfhb Ughia 
jhz;lf;$lhJ 
NkNy fz;ltw;Ws; vit rhpahd $w;W? 
a.  1 kw;Wk; 4   
b.  1 kw;Wk; 3 
c.  1,2 kw;Wk; 3 
d.  3 kw;Wk; 4 

     e.  tpil njhpatpy;iy 
 
49. A weak base has _______ conjugate acid and a weak acid  

has a __________ conjugate base. 
a. Strong, strong  b. Weak, strong  c. Strong, weak  

 d. Weak, weak e. Answer  not known 
xU tYtw;w fhuk; _________ ,iz mkpyj;ijAk; xU tYtw;w 

 mkpyk; _________ ,iz fhuj;ijAk; ngw;wpUf;Fk;.  
 a. tYthd> tYthd   b. tYtw;w> tYthd  

c. tYTs;s> tYtw;w  d. tYtw;w> tYtw;w 
 
50. In Tv transmission the audio signal is _________modulated. 

a. Electric   b. Phase  c. Amplitute     



 

16 | P a g e  16 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 
 

d. Frequency  e. Answer not known 
njhiyf;fl;rp xsp gug;gpy; xyp irif __________ gz;Ngw;wk; 

 nra;ag;gl;lJ.  
a. kpd;  b. fl;lk;  c. tPr;R  d. mjph;ntz 

 
51. The Refrigerator and ice plant working under the principle of  

a. First Law of Thermodynamics b. Second Law of Thermodynamics 
c. Third Law of Thermodynamics d. Zeroth Law of Thermodynamics 
e. Answer not known 
Fsph; rhjdg;ngl;b kw;Wk; gdpf;fl;b njhopyfj;jpy; nray;gLk; 

 jj;JtkhdJ  
 a. ntg;g ,af;ftpaypd; Kjy; tpjp  
 b. ntg;g ,af;ftpaypd; ,uz;lhk; tpjp  
 c. ntg;g ,af;ftpaypd; %d;whk; tpjp  
 d. ntg;g ,af;ftpaypd; G+[;a tpjp  
 
52. How many 3 digit numbers are there which are divisible by 9? 

a. 99   b. 101    c. 90     
d. 100  e. Answer not known  
9My; tFgLk; %d;wpyf;f ,ay; vz;fs; nkhj;jk; vj;jid?  

 a. 99    b. 101  c. 90 d. 100   
 

53. In the series 
1 2 3

, ,
2 3 4

what will be the 6th term? 

a. 
9

17
  b. 

7

13
  c. 

4

9
  d. 

6

7
  e. Answer not known 

1 2 3
, ,

2 3 4
,… vd;w njhlh; thpirapd; 6 MtJ cWg;igf; fhz;f. 

a. 
9

17
  b. 

7

13
  c. 

4

9
  d. 

6

7
 e. tpil njhpatpy;iy 

 
54. In a class there are six students toppers namely S, T, U, D, E, N. In   

     how many different ways can a leader and an assistant leader be selected? 
 a. 6  b. 36  c. 30  d. 12  e. Answer not known 

xU tFg;gpy; S, T, U, D, E, N vd;w MW khzth;fs; ed;F fw;Fk; 
 khzth;fshf  cs;sdh;. mth;fspypUe;J vj;jid tpj;jpahrkhd 
 topfspy; xU  khzth; jiytDk; xU cjtp jiytDk; 
 Njh;e;njLf;f ,aYk;? 
 a. 6  b. 36  c. 30  d. 12  e. tpil njhpatpy;iy 

 
55. If the standard deviation of x, y, z is p. then the standard deviation   
           of  3x + 5, 3y + 5, 3z + 5 is 

 a. 3p +5  b. 3p   c. p + 5  d. 9p + 15 
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x, y, z Mfpatw;wpd; jpl;ltpyf;fk; p-vdpy; 3x + 5, 3y + 5, 3z + 5  
 Mfpatw;wpd; jpl;l tpyf;fkhdJ  
 a. 3p +5  b. 3p   c. p + 5  d. 9p + 15 
 e. tpil njhpatpy;iy  

 
56. 12 cows can graze a field for 10 days. 20 cows can graze the same field  
           for    ________ days. 
 a. 18  b. 15   c. 8  d. 6 e. Answer not known 

12 gRf;fs; xU Gy; jiuia 10 ehl;fs; Nka;fpd;wd. 20 gRf;fs; 
 mNj Gy;jiuia Nka ___________ ehl;fs; vLj;Jf; nfhs;fpd;wd.  

 a. 18  b. 15   c. 8  d. 6 
 

57. A cube has a total surface Area of 384 Sq.cm. Find its volume. &T  
 a. 512 cm3   b. 521 cm3 510 cm3 
 c. 500 cm3   d. 500 cm3 
 e. Answer not known 

xU fd rJuj;jpd; nkhj;jg; gug;G 384 rJu nrd;bkPl;lh; vdpy;  mjd; fd 
msT fhz;f.  

 a. 512 f.nr.kP   b. 521 f.nr.kP 
 c. 510 f.nr.kP   d. 500 f.nr.kP  
 
58. The value of a motor cycle 2 years ago was ` 70,000. It depreciates at the 

rate of 4% p.a. Find its present value. 
a. ` 69,904              b. ` 64,512     c.` 67,200             

d. ` 64,400     e.  Answer not known   

,U rf;fu thfdk; xd;wpd; tpiy 2 Mz;LfSf;F Kd; ` 70>000 Mf 
,Ue;jJ. mjd; kjpg;G Mz;LNjhWk; 4% tPjk; FiwfpwJ. mjd; 
jw;Nghija kjpg;igf; fhz;f.  
a. `69,904   b. ` 64,512 
c. ` 67,200   d. ` 64,400 
                                                                  

59. The annual rate of growth in population of a town is 10%. If is present 
population is 26,620, then the population 3 years ago was 

a. 20,000                           b.   19,680   c.    21,320                                    
d. 13,320    e.   Answer not known 
xU efuj;jpd; kf;fs;njhif Mz;LNjhWk; 10% tPjk; mjpfhpf;fpwJ. mjd; 
jw;Nghija kf;fs;njhif 26>620 vdpy;> 3 Mz;LfSf;F Kd; 
kf;fs;njhif ____________ MFk;.  
a. 20,000  b. 19,680 c. 21,320  d. 13,320  

 
60. A camp had provisions for 490 soldiers for 65 days. After 15 days, 

more soldiers arrived and the remaining provisions lasted for 35 days.  
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How many soldiers joined the camp? 

a.   120       b.  490  c.   700                      

d.210    e.    Answer not known 
xU Kfhkpy; 65 ehl;fSf;F 490 tPuh;fSf;Fg; NghJkhd kspifg; 
nghUl;fs; ,Ue;jd. 15 ehl;fSf;Fg; gpwF> NkYk; gy tPuh;fs; Kfhkpw;F 
te;jjhy;> kPjkpUe;j kspifg; nghUl;fshdJ 35 ehl;fSf;F kl;LNk 
NghJkhdjhf ,Ue;jJ vdpy;> vj;jid tPuh;fs; Kfhkpy; Nrh;e;jdh;?  
a. 120  b. 490  c. 700  d. 210  
 

61. P, Q and R have a total of 210 marbles. P has one fourth of the total 
number of marbles with Q and R. Q has three fourth of the total number of 
marbles with P and R. The number of marbles with R is 
a.64  b.68  c.72  d.78   e.  Answer not known 
P, Q kw;Wk; R Mfpa %thplKk; nkhj;jkhf 210 Nfhypf; Fz;Lfs; cs;sd. 
mtw;wpy; Q kw;Wk; R  MfpNahhplk; cs;s nkhj;j Fz;Lfspy; ehd;fpy; 
xU gq;F P aplKk;> P kw;Wk; R MfpNahhplk; cs;s nkhj;jf; Fz;Lfspy; 
ehd;fpy; %d;W gq;F Q tplKk; cs;sd vdpy; R aplk; cs;s Fz;Lfspd; 
vz;zpf;if  
a. 64  b. 68  c. 72  d. 78 

 

62. Find the least number that is divisible by the first ten natural numbers. 
a.2520  b.360   c.210   d.1250 e.Answer not known 
Kjy; 10 ,ay; vz;fshy; kPjpapd;wp tFglf;$ba rpwpa vz; vJ?  

 a. 2520  b. 360  c. 210  d. 1250  
 

 
63. If HCF of two numbers is 8, then which of the following can never be 

their LCM? 
a.24  b.  48  c.56  d.60   e.Answer not known 
,U vz;fspd; kP.ngh.t. 8 vdpy; fPo;fz;l vz;fspy; ve;j vz; mtw;wpd; 
kP.rp.k. Mf ,Uf;f KbahJ?  

a. 24  b. 48  c. 56  d. 60 
 

64. Assertion (A) NeGP vision of TamilNadu is, "Making all government 
services accessible to the common man in his locality. 
Reason (R) Through common service delivery outlets and ensuring 
efficiency, transparancy and reliability of such service at affordable costs. 
 a. (A) is true but (R) is false   
 b. Both (A) and (R) are true and (R) is the correct explanation of (A) 

           c. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
       d. Both (A) and (R) are false e.Answer not known 
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 typAWj;jy;(A) :jkpof murpd; ghh;it my;yJ Nehf;fk; vd;gJ  
    “rhjhuz kdpjd; murpd; Nritfis mtd;  
    FbapUg;G tl;lhuj;jpNyNa mZFkhW Vw;ghL  
    nra;tJ" 

 fhuzk; (R)  :nghJr;Nrit ikaq;fs; %ykhf> jpwk;glTk;>  
   ntspg;gilahfTk;> ek;gfj;jd;ik nfhz;ljhfTk;>  
   fl;LgbahFk; tpiyapYk; toq;Fjy;  
 a.   (A)cz;ik Mdhy; (R) jtW 
 b. (A)kw;Wk; (R) ,uz;Lk; cz;ik kw;Wk; (R) vd;gJ (A) f;fhd  
      rhpahd tpsf;fk; 
 c. (A)kw;Wk; (R) ,uz;Lk; cz;ik kw;Wk; (R) vd;gJ (A) f;fhd  
      rhpahd tpsf;fkpy;iy  
  d. (A)kw;Wk; (R) ,uz;Lk; jtW  

 

65. --------------is a health programme, focussing on adolescents. 
a.Valimai thittam    b.Vazhvoli thittam  

c.Arivoli thittam   d.Nalamana Tamizhagam 

e.Answer not known 
___________ tsh;,sk; gUtj;jpdUf;fhd eyj;jpl;lk;. 
a. typik jpl;lk;   b. tho;nthsp jpl;lk;  
c. mwpnthsp jpl;lk;  d. eykhd jkpofk;  

 
66. India‟s first Transgender lawyer is from Tamilnadu. Her name is 

a. Meenakshi Arora   b. Menaka Guruswamy 
c. Sathyashri Sharmila   d. Sandhya Radhakrishnan 
e. Answer not known 
,e;jpahtpd; Kjy; jpUeq;if tof;fwpQh; jkpo;ehl;il Nrh;e;jth;. mthpd; 
ngah;  
a. kPdhl;rp mNuhuh   b. Nkdfh FUrhkp 
c. rj;jpa = rh;kpsh   d. re;jpah ,uhjhfpU~;zd;  

 

67. Match the following: 
Scheme      Name 

a. Poor widow Daughter's  1.Sathya Ammaiyar  
    Marriage Assistance 
b.Widow Remarriage   2.E.V.R. Maniammaiya 
c. Government Orphanages  3.Sathiyavani Muthu 

          Ammaiyar 

 d. Free supply of sewing   4. Dr.Dharmambal Ammaiyar 

Machine 
(a) (b) (c)  (d) 

(a)  4  2  3  1 
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(b)  2   4  1  3 
(c)  3  1  4  2 
(d)   1  3  2  4 

(e)  Answer not known 
gpd;tUtdtw;iw nghUj;Jq;fs;. 

  jpl;lk;     ngah; 
A. Vio tpjit kfspd;  

jpUkz cjtp     1. rj;ah mk;ikahh; 
B. tpjit kWkzk;     2. <.nt.uh. kzpak;ikahh; 
C. muR mdhij ,y;yq;fs;   3. rj;jpathdp Kj;J  

          mk;ikahh; 
D. ijay; ,ae;jpuk; ,ytr toq;Fjy;  4. lhf;lh;. jh;khk;ghs;  

          mk;ikahh; 
  A  B C D 
 a. 4 2 3 1  
 b. 2 4 1 3  
 c. 3 1 4 2  
 d. 1 3 2 4 

 

68. Which of the following statements is / are correct with regard to EVR 
Periyar? 
(i)EVR Periyar was responsible for the establishment of Khadhi 
Vastralayam 
(ii) EVR periyar served as the president of spinners Association 
(iii) He was a member of District Board 
(iv) He was the Chairman of Erode Municipal Council 
a. (i) and (ii) only  b. (i), (ii) and (iii) only  c. (ii) and (iii) only 
d.AIl the above  e. Answer not known 
fPo;tUtdtw;Ws; <.nt.uh. nghpahiu gw;wp vit cz;ikahd $w;W?  
i. fhjpt];jpuhyaj;ij Njhw;Wtpf;f fhuzkhdth; <.nt.uh. nghpahh;  
ii. E}w;ghiy rq;fj;jiytuhf gzpahw;wpath; <.nt.uh. nghpahh;  
iii. khtl;l FOtpy; cWg;gpduhf ,Ue;jhh; 
iv. <NuhL Kdprpgy; fTd;rpy; jiytuhf ,Ue;jhh; 
a. i kw;Wk; ii kw;Wk;    
b. i, ii kw;Wk; iii kl;Lk;  
c. i, ii kw;Wk; iii kl;Lk;  
d. ii kw;Wk; iii kl;Lk;  

 

69. The title "Kodumudi Kokilam" was conferred on K.P. Sundarambal by 

a. Arignar Anna  b. Periyar   c. Karunanidhi 
d. M.G.R.   e. Answer not known 
"nfhLKb Nfhfpyk;" vd;w gl;lj;ij Nf.gp. Re;juhk;ghSf;F toq;fpath;. 
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a. mwpQh; mz;zh   b. nghpahh; 
c. fUzhepjp    d. vk;.[p.Mh; 

 

70. What helps to find the truth of things in 
"When folly, cause of births, departs; and soul can view 
The truth of things, man's dignity.' tis--------------- 
Pirapennum pethamai Neenga Sirapennum 
Semborul Kanba-----------------. 
a. Love   b. Wisdom   c. Renunciation 
d. Penance   e. Answer not known 
"gpwg;ngd;Dk; Ngijik ePq;fr; rpwg;ngd;Dk;  

 nrk;nghUs; fhz;gJ ____________" 
 rpwg;ngd;Dk; nrk;nghUisf; fhz cWJizahtJ?  
 a. md;G   b. mwpT   c. JwT  d. jtk;  

 
71. "Too great a load of even peacock feathers will break The axle of the Cart" 

What advice does Thiruvalluvar give through the above kural? 

a. Don't collect too much taxes   b. Don't punish severely  
c. Don't go beyond your limits   d. Don't give strenuous work 

e. Answer not known 
gPypnga; rhfhLk; mr;rpWk; mg;gz;lk; rhy kpFj;Jg; ngapd;  

 ,f;Fws; top jpUts;Sth; $Wk; mwpTiu ahJ?  
 a. mjpfk; thp t#ypj;jy; $lhJ  
 b. fLikahd jz;lid toq;Fjy; $lhJ  
 c. jd; rf;jpapd; msit flj;jy; $lhJ  
 d. mjpfk; Ntiy toq;Fjy; $lhJ 
 

72. The Domestic life with unwilling people is compared to living with what?  
a. Snake      b. Tiger      c. Lion     
d. Elephant    e. Answer not known 
kd cld;ghL ,y;yhjtNuhL Nrh;e;J thOk; tho;f;if vjNdhL 

 jq;fpapUe;J tUe;Jtjw;F xg;ghFk;?  
 a. ghk;G   b. Gyp  c. rpq;fk; d. ahid  

 
73. What is the message in this Kalithogai verse? 

'Tazhuley Pirappinum, Yazhkku Avaitham En Seiyum 
Soolungal, Nummagal Numakku Aangu Anaiyale!" 
(Music is born in Veena but Veena does not own it. Just like that, your 
daughter doesn't belong to you) 
a. Music will add to the enjoyment of marriage 
b.The great love of home will be gone when marital life begins 
c. Marriage will make the child happy 
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d. There will be musical instruments in the wedding 
e.  Answer not known 
"ahONs gpwg;gpDk;> aho;f;F> mitjhk; vd; nra;Ak;  

 FOq;fhy;> Ek;kfs;> Ekf;Fk; Mq;F midaNs!" 
 vd;w fypj;njhifg; ghly; czh;j;Jk; fUj;J vd;d?  
 a. ,y;tho;f;ifapy;> ,irnaDk; ,d;gk; NrUk;  
 b. ,y;tho;f;if njhlq;Fk; NghJ gpwe;j ,lj;Jg; ghrk; tpyFk;  
 c. ,y;tho;f;ifapy; kf;fl;NgW kfpo;r;rp nfhLf;Fk;  
 d. jpUkz epfo;tpy; ,irf;fUtpfs; gad;ghL ,Uf;Fk;  

 

74. Which empires embassies were received by Emperor Augustus Caesar at 
Terragoda and on the island of Cyprus. 
a. Chera    b. Chola   c. Pallava       

d. Pandyan  e.   Answer not known 
njh;uNfhlh kw;Wk; irg;u]; jPtpy; ve;j Nguurpd; J}Jf;FOit  Nguurh; 
mf];l]; rPrh; tuNtw;whh;.  

 a. Nru   b. Nrho  c. gy;yt  d. ghz;ba  
 

75. With  regard to the  Rae  Bareilly peasant  movement,   which of the 
following statements are true? 

1.The Rae Bareilly peasants were treated as serfs 

2.The non-cooperation movement provided impetus to the rebels 

3.It took place in the districts of Madhya Pradesh 

a.1 only   b. 2 only   c. Both land 2    
d. 1, 2 and 3   e. Answer not known 
NugNuyp tptrhap ,af;fj;jpd; gb gpd;tUk; ve;j thf;fpaq;fs; 
cz;ikahdit?  
1. NugNuyp tptrhapfs; mbikfshf elj;jg;gl;ldh;.  
2. Gul;rpahsh;fSf;F xj;Jioahik ,af;fk; xU cj;Ntfj;ij mspj;jJ  
3. ,g;Gul;rp kj;jpa gpuNjr khtl;lq;fspy; ele;jJ 

     a 1 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 2  d. 1, 2 kw;Wk; 3  
 
76. Who was the Secretary of New National Party of Madras Presidency after 

the split of congress in 1907? 

a. C. Rajagopalachari  b.C.Subrahmanya Bharathi 
c. C. Subrahmanya Siva  d.V.O. Chidamparanar    
e. Answer not known 
1907 fhq;fpurpd; gpstpw;F gpwF cUthd Gjpa Njrpa fl;rpf;fhd nrd;id 
khfhzj;jpd; nrayh; ahh;?  
a. C. ,uh[Nfhghyhr;rhhp   b. C. Rg;gpukzpa ghujp 
c. C. Rg;gpukzpa rpth   d. V.O. rpjk;gudhh; 
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77. Who started the 'Samaj Samata Sangha' to probagate the gospel of social 
equality among untouchables and caste Hindus? 

a. C. Rajagopalachari   b. Acharya Vinobhave 

c. E.V.R. Periyar    d. Dr.B.R.Ambedkar  
e. Answer not known 
jho;j;jg;gl;l kw;Wk; rhjpa ,e;Jf;fs; kj;jpapNy r%f rkj;Jtj;ij 
Nghjpf;fahuhy; 'rkh[; rkjh rq;fk;' njhlq;fg;gl;lJ?  
a. C. ,uh[Nfhghyhr;rhhpahh;  b. Mr;rhh;a tpNdhghNt 
c. <.nt.uh. nghpahh;    d. Dr. B.R. mk;Ngj;fh;  

 

78. Why did the Poverty eradication programmes have limited success? 

a. Deficiencies in wage employment programme 

b. In-built limitations of the strategy 

c. Unsatisfactory performance of development administration  
d. All the above 

e. Answer not known 
tWik xopg;G jpl;lq;fs; Vd; FWfpa mstpy; kl;Lk; ntw;wp ngw;wd?  
a. Ntiy tha;g;G jpl;lq;fspd; FiwghL  
b. cs;shh;e;j mbg;gil FiwghLfs;  
c. jpl;lgzpfspd; eph;thfj;jpy; Vw;gl;l njha;T  
d. NkNy Fwpg;gpl;l midj;Jk; 

 
79. The programme which was launched in 2005, for provision of accessible, 

affordable, accountable, effective and reliable primary health care facilities, 
especially to the poor and vulnerable sections of the population is 

a. National Rural Health Mission   
b. Janani Suraksha Yojana 

c. National Leprosy Eradication Programme  

d. National Programme for control of blindness 

e. Answer not known 
2005 y; njhlq;fg;gl;l> mZff;$ba> kypT> nghWg;G> gaDs;s kw;Wk; 
ek;gfkhd Muk;g Rfhjhu trjpfis Fwpg;ghf kf;fs; njhifapy; Vio 
kw;Wk; ghjpf;fg;glf;$ba gFjpfSf;F toq;Ftjw;fhd jpl;lk;  
a. Njrpa fpuhkg;Gw Rfhjhug; gzp  
b. jha; ghJfhg;Gj; jpl;lk;  
c. Njrpa njhONeha; xopg;Gj; jpl;lk;  
d. Njrpa FUl;Lj; jd;ik fl;Lg;gLj;Jk; jpl;lk;  
 

80. Which are /is the function of NITI AAYOG? 

a. To evolve a shared vision of national development priorities 

b. Create employment 
c.  To promote agriculture 
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d.  Create more exports 

e.  Answer not known 
gpd;tUtdtw;Ws; epjp MNahf;fpd; nray;ghLfs; vJ / vit?  
a. Njrpa tsh;r;rp nfhs;iffis ghpe;Jiufs; nra;tJ  
b. Ntiy tha;g;ig cUthf;Fjy;  
c. tptrhaj;ij Nkk;gLj;Jjy;  
d. Vw;Wkjpia mjpfk; cUthf;Fjy;  

 
81. Consider the following : 

(i)     An account of the issue 
(ii)    A weekly statement 
(iii)   Receipts and payments statement 
(iv)   An Annual Balance Sheet 
Select the important financial statements of RBI using the code given 
below : 
a. ii), (iii) and (iv)  b. (i), (iii) and (iv) c.(i), (ii) and (iv)           
d. (i), (ii) and (iii)  e.Answer not known  
fPo;fz;ltw;wpid ftdj;jpy; nfhs;f.  
i. eltbf;iffspd; fzf;F  
ii. thuhe;jpu mwpf;if  
iii. ngWjy; - nrYj;jy; mwpf;if  
iv. tUl ,Ug;G epiyf; Fwpg;G  
,tw;Ws; hprh;t; tq;fpapd; Kf;fpa mwpf;iffis FwpaPLfs; %yk; njhpT 
nra;f:  
a. ii, iii kw;Wk; iv  
b. i, iii kw;Wk; iv  
c. i, ii kw;wk; iv  
d. i, ii kw;Wk; iii  

 
82. 'The general and regional governments of a country shall be independent 

each of the other within a sphere' said by 

a. Dr. Wheare  b. Dr. Ambedkar  c.  Dr. Rajendra Prasad 

d. Dr. Ivor Jennings e. Answer not known 
'xU ehl;bd; kj;jpa khepy muRfs; mjd; vy;iyf;Fl;gl;L xd;Wf;nfhd;W 
Rje;jpukhditfshFk;' vd $wpath; 
a. Dr. tpah;    b. Dr. mk;Ngj;fh;  
c. Dr. uhN[e;jpu gpurhj;  d. Dr. INthh; n[d;dpq;f;]; 

 
83. Who    described,    that    the    "The    Directive    Principles"    and    the 

"Fundamental Rights" are the conscience of the Constitution? 

a. Granville Austin b. Dr. B.R. Ambedkar  c. K.C.Wheare  
d. Dr. Ivor Jennings  e. Answer not known 
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"topfhl;L newpKiwfSk; kw;Wk; mbg;gil chpikfSk;"> "murikg;gpd; 
kdrhl;rpahf ,Uf;fpwJ" – vd tpthpj;jth; ahh;?  
a. fpuhtpd; M];bd;  b. Dr. B.R. mk;Ngj;fh;  
c. K.C. tpah;   d. Dr. INthh; n[d;dpq;];  

 
84. The term "Judicial Activism" was introduced in 

a. Britain  b.  Russia   c. America  d. China  
 e. Answer not known 

'ePjpj;Jiw nray;ghl;L Kiw" vd;w $w;W mwpKfg;gLj;jg;gl;lJ 
____________ y;  

a. gphpl;ld;   b. u~;ah c. mnkhpf;fh  d. rPdh  
 
85. Who   introduces   the   Annual   Financial   Statement   (Budget)   

 in   the Parliament? 
a. Prime Minister  b. President  c. Finance Minister 
d.Cabinet Secretary e. Answer not known 
Mz;L epjp mwpf;ifia ghuhSkd;wj;jpy; ahh; mwpKfg;gLj;Jfpwhh;? 

 a. gpujk ke;jphp  b. [dhjpgjp 
c. epjp ke;jphp  d. jiyik nrayhsh 

 
86. Match the following :   

A. USA Constitution  1. Removal of supieme court Judges 
B. Weimar constitution of  2. Suspension of Fundamental Rights 
during Emergency Germany 3. Single citizenship 
C. British constitution  4. Nomination of members to raiya sabha 
D. Irish constitution 

A     B  C D   
a.  l 2 3 4  
b.    2 4 3 1  
c.    3 1 4 2  
d.     4 3 2 1  
e.    Answer not known 

           fPo;fz;ltw;iwg; nghUj;Jf:  
A. mnkhpf;f murpay; rhrdk;  1. cr;rePjpkd;w ePjpgjpfis  

         gjtpapypUe;J ePf;Fk; Kiw  
B. n[h;kdpapd; nta;kh;   2. neUf;fb fhyj;jpy; mbg;gil  

     murpay; rhrdk;      chpikfis epWj;jpitj;jy;  
C. gphpl;B~; murpay; rhrdk;  3. xw;iw FbAhpik  
D. Ihp~; murpay; rhrdk;  4. ghuhSkd;wj;jpd; Nkyitf;F  

           gpujpepjpfs; epakdk;  
 

A     B  C D   
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a.  l 2 3 4  
b.    2 4 3 1  
c.    3 1 4 2  
d.     4 3 2 1  
e.     tpil njhpatpy;iy 

 
87. Harihara I organised the country into sthalas and nadus on the model of 

a.   Mughals 

b.    Turks 

c.    Kakatiyas 

d.    Hoysalas 

e.    Answer not known 
Kjyhk; `hp`uh jd; ehl;il> ];jyq;fshfTk; ehLfshfTk; ve;j 
khjphpapd; mbg;gilapy; xOq;fikj;jhh;  
a. Kfyhah;    b. JUf;fpah;  
c. fhfjPah;    d. nfharhsh 

 
88. Name the Mughal ruler who was defeated by the British East India 

Company at the Battle of Buxar in 1764 
a. Akbar  b. Shah Jahan   c. Sha Alam II                              
d. Aurangazeb e. Answer not known 
1764 gf;rhh; Nghhpy; Mq;fpNya fpof;fpe;jpa fk;ngdpahy; Njhw;fbf;fg;gl;l 
Kfyha kd;dhpd; ngaiu Fwpg;gpLf.  
a. mf;gh;     b. ~h[`hd;  
c. ,uz;lhk; ~h Myk;   d. xsuq;frPg;  

 
89. Which one  of the  statement is  correct regarding the  Indus Valley 

Civilization? 
1.  Harappa and Mohenjodaro the houses were made of Kiln burnt bricks 
2. On   Kalibangan   and   Lothal   mud   bricks   were   used   for   the 
residential houses 
3. The kiln—burnt bricks used in large quantities in the construction 
drains, wells and bathing platform. 
4.  An average house consist of courtyard and four to six living room 1  a.   
lonly 
b.  1,2 only 
c.   1,2, 3 only  
d.   l,2,3,4 
e.   Answer not known 
rpe;J rkntsp ehfhpfj;ij gw;wp rhpahd $w;W vJ?  
1.`ug;gh nkhfQ;rjhNuhtpy; tPLfs; fl;l Rl;l nrq;fw;fs; 
gad;gLj;jg;gl;Ls;sJ.  
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2. fhypgq;fd; kw;Wk; Nyhjypy; Rlhj nrq;fw;fs; fl;blq;fs; fl;l 
gad;gLj;jg;gl;L cs;sJ 
3. Rl;l nrq;fw;fs;> rhf;filfs;> fpzWfs;> Fspayiwfs;> eilghijfs;> 
fl;l ngUk;ghYk; gad;gLj;jg;gl;L cs;sd.  
4. rpe;J rkntsp ehfhPfj;jpy; tPLfspy; xU Kw;wKk; mij Rw;wp ehd;F 
kw;Wk; MW jq;Fk; miwfs; mike;jpUj;jd.  
a. 1 kl;Lk;    b. 1, 2 kl;Lk;  
c. 1, 2, 3 kl;Lk;   d. 1, 2, 3, 4  

 
90. Thermal Pollution in water resource mainly reduce the concentration of 

a. pH  b. dissolved oxygen c. acidity  d. alkalinity 
e. Answer not known 
ntg;g khRghl;bd; fhuzkhf> ePh; epiyfspy; vtw;wpd; nrwpT mjpf 
mstpy; FiwAk;?  
a. pH     b. DO (fiue;j Mf;]p[d;)  
c. mkpyj;jd;ik   d. fhuj;jd;ik  

 
91. Which of the following statement/s is/are true in respect of lightning? 

 (i)     Heated air sends Shockwaves through the atmosphere 
(ii)    There must be a mechanism present to start rotation.  
a. only  b. (ii)only  c.  Both (i) and (ii) 
d.  None of the above  e.  Answer not known 
kpd;diy nghUj;jtw;wpy; gpd;tUk; $w;Wfspy; vJ cz;ikahdJ?  
i. #lhd fhw;W tspkz;lyk; topahf mjph;tiyfis mDg;GfpwJ  
ii. Row;rpiaj; njhlq;f xU topKiw ,Uf;f Ntz;Lk;  
a. i kl;Lk;      b. ii kl;Lk;  
c. i kw;Wk; ii ,uz;Lk;    d. ,tw;wpy; vJTkpy;iy  

 
92. Which of the following statement is correct? 

1.  The    National    Manufacturing    policy    was    released    by    the    
               Government in 2011 

2.  Its policy is to increase  12-14 percent in manufacturing sector growth  
             over the Medium term. 

 3. Creating 75 million additional jobs in the manufacturing sector by    
             2022 
           4.   Increasing the share of manufacturing in GDP to 25 percent by 2022 
        a. 2, 3 and 4                                   b.   1, 2 and 3 

c. 1,2 and 4                                   d.  1, 3 and 4 
e.  Answer not known 

gpd;tUk; $w;wpy; vit rhpahd $w;W?  
1. Njrp cw;gj;jpahsh; nfhs;if 2011-,y; murhy; nspaplg;gl;lJ 
2. eLj;ju gUtj;jpy; cw;gj;jpahshpd; tsh;r;rp 12 – 14 rjtPjkhf 
nfhs;if Vw;gLj;jg;gl;lJ  
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3. 2022-f;Fs; cw;gj;jp njhopw;rhiyapy; 75 kpy;ypad; $Ljy; Ntiy 
tha;g;ig cUthf;f jpl;lkplg;gl;Ls;sJ 
4. nkhj;j cs;ehl;L cw;gj;jpapy; cw;gj;jpahshpd; gq;F 2022 f;Fs; 25 
rjtPjkhf mjpfhpf;fg;gLk;  
a. 2, 3 kw;Wk; 4   b. 1, 2, kw;Wk; 3 
c. 1, 2 kw;Wk; 4   d. 1, 3 kw;Wk; 4  

 
93. Lord Viscount Peel Committee of 1931 is associated with 

a.   Simon Commission 
b.   Fiscal Relation between Centre and Provinces 
c. Centre — State Relation 
d.    To review of Govt, of India Act of 1919 
e.    Answer not known 
1931 Mk; Mz;L yhh;L tp];nfsd;l; gPy; fkpl;b njhlh;GilaJ 
a. irkd; fkp~d;   
b. kj;jpa – khepy epjp cwTfs;  
c. kj;jpa – khepy cwTfs;  
d. ,e;jpa muR rl;lk; 1919 I Ma;T nra;a  

 
94. The Anti-Satellite Missile (ASAT) mission tested by India on March 27, 

2019 is 
a.  Mission Nag   b.Mission Antriksh 
c.  Mission Gagan d.Mission Shakthi  e.Answe not know 
27 khh;r; 2019 md;W ,e;jpah ghpNrhjpj;j Jizf;Nfhs; mopg;G VTfiz 
jpl;lk;  
a. kp~d; ehf;  b. kp~d; me;jhpf;~;  
c. kp~d; ffd;   d. kp~d; rf;jp  

 
95. Sir Creek forms the boundary between  

a. Gujarat and Pakistan 
     b. Arunachal Pradesh and China 

c. Sikkhim and Nepal 
d.  Sikkhim and Bhutan 
e.  Answer not known 
'rh; fphPf;' ____________ kw;Wk; ____________ ,ilapyhd vy;iyahf 
mikfpwJ.  
a. F[uhj; kw;Wk; ghfp];jhd;  
b. mUzhry gpuNjrk; kw;Wk; rPdh  
c. rpf;fpk; kw;Wk; Neghsk;  
d. rpf;fpk; kw;Wk; G+lhd 

 
96. It is difficult to walk on ice bar because 
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a. Pressure is high b. Friction is high  c. Pressure is low                           
d. Friction is low   e.  Answer not known 
I]; fl;bapd; kPJ elg;gJ rpukkhf ,Uf;Fk; Vnddpy;  
a. mOj;jk; mjpfkhf ,Uf;Fk;  
b. cuha;T mjpfkhf ,Uf;Fk;  
c. mOj;jk; Fiwthf ,Uf;Fk;  
d. cuha;T Fiwthf ,Uf;Fk 

 
97. Which one of the following gives the meaning of superstition? 
       a. Mythical  b. Scientific  c. Factual  d.Analytic  

e.  Answer not known 
fPo;fz;ltw;Ws; vJ %lek;gpf;ifapd; nghUisf; Fwpg;gpLfpwJ?  
a. Guhzk; rhh;e;j   b. mwptpay; G+h;tkhd  
c. cz;ikahd    d. gFg;gha;T 

 
98. Which of the following is used for artificial rain? 

a. Liquid oxygen    b.  Liquid Hydrogen 
c. Liquid carbon monoxide   d. Solid carbon dioxide 
e. Answer not known 
nraw;if kio nga;a Nkfj;jpd; kPJ J}tg;gLtJ vJ?  
a. jput Mf;]p[d;     b. jput i`l;u[d;  
c. jput fhh;gd; Nkhdhf;i]L   d. jpu fhh;gd; il Mf;i]L  

 
99. Which of the following is an example of Zoonotic disease? 
   a.  Leprosy 

 b. Diphtheria  
 c.  Rabies 

    d.  Amoebiasis 
   e.   Answer not known 

gpd;tUtdw;Ws; vJ tpyq;Ffsplk; ,Ue;J kdpjDf;F tUk; Neha;?  
a. njhONeha;   b. njhz;il milg;ghd;  
c. Nugp];    d. mkPgpahrp];  

 
100. "Life on earth is solar powered". This statement is true because 

a. Most of the countries in the world are harnessing solar power 
b. Solar power gradually replaces all other energy sources 
c. Plants produce energy by photosynthesis using solar lights 
d. Solar rays remove the harmful pathogens of the earth 
e.  Answer not known 
“G+kpapy; caphpfspd; tho;f;ifahdJ #hpa rf;jpahy; ,aq;Ffpd;wJ"  
 ,e;jf; $w;W gpd;tUk; ve;j fhuzj;jhy; cz;ikahfpwJ?  
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a. cyfpy; cs;s ngUk;ghyhd ehLfs; #hpa xspapid kpd;rhu  
        jahhpg;gpw;fhf gad;gLj;Jfpd;wd.  

b. #hpa kpd;rhuk; kw;iwa vhpnghUs;fis nfhQ;rk; nfhQ;rkhf    
      khw;wpf;nfhz;bUf;fpd;wd 

c.  jhtuq;fs; #hpa xspapd; %yk; xspr;Nrh;f;if nra;fpd;wd.  
d.  #Hpa fjph;fs; G+kpapy; cs;s Neha; gug;Gk; fpUkpfis ePf;Ffpd;wd.  

 
 
 
 


